WEEREERHE — 5 cnrssr1880)

FFRIIEH ZHES FIRERH
BRERBEABTERF (BEAR) % 338 5(H8W 24 9 A =
R EREER Geay7) B T E|aF 1% 28 18
g — A% A BT (—fEARR) £ 1791 5|$f1 745 4R =
EEHUNEYT—2a fmR AR 2 (BEl12) % 45 5|5 6 4F 10 A =
PERBEEARHIMES (PM%3) % 176 B [FER 294 10 A =
T—RRHEME (T—45R) & 120 5 |6f0 2H& 9 A H
ERREXHRME2 (EfE%Z22) & 197 5|Fst 295F 6 A A
Rt Km EMES (RREXEI) &# 4 S| 64F 10A H
ABBRZIEME (ABX) % 243 B|®W 6% 10 A =
BERRRBREMNE2 (EE2) % 44 B|Fk 25%F 12 B B
HReiemE (Hpesgib) £ 586 5 |R"f1 4 & 6 A H
B DX HEE AR I B R I (EHDX) % 1003 5|1 6% 6 A B
FREGET T INES (B77) & 168 B5|®"f1 5& 4 A =
ABRBERE(ID) (B) & 1003 5 |Fpt 125F 4 A A
FHEEREDN (B) & 481 S |F/ 30&F 9 A A
EERBXIERR2 (XiEH2) % 10 5(Hf 44 10A =
EEHEFRATEHRUBRARREZGAEEY |[(EERE1) £ 561 B|FER 235 58 H
EENAVERBEDER (E#) & 417 B |FK 23F 5 A =
BRAREEEME(D) (BBI) B 207 5|Fp 27 10RA =
BRAREEEME (D) (&I) % 114 5|k 27 & 10 A =
CTiz= (165ILL L) RUMRHRS (c-M) £ 367 5|FRL 245%F 4 A A
ZRIEBIT TG EER2 (ZB#2) % 13 5(%f 44& 4R =
ZRIEBIT TR G EERS (ZB#3) %5 28 5|9f 445 4A =
fMMmERBZEINE)T—2a (1) (BI) % 68 S |FEK 254%F 7 A A
EEISRYNEYT =23V (1) GEI) 8 81 S|k 25 4% T A =
FEIRERY/ANEYT—2aV (1) (FFI) % 65 5 |FEk 25 7 A A
MARREEIEEH (BAtE) % 58 B|FER 224 78 =
BAHME (A1) & 186 5(%f1 6% 4A A
I B R I (#MmO) £ 100 5|%fM 4% 4 A B
40 I 5 1F (5 PR AN (8 % 9 5| 4& 4A A
R—ZRA—=H— BT R U R— ZA—H— A () £ 194 5[ 6%F 6A° A
O oma THERORESIRETS|  mm<) % s3 ®[eRM 6% 6A 18
S EER—RTYTEER (1) NERT) & 82 H|®f1 6% 648 H
ABRA—R 7y T EHili 34 (AR34) & 2 5|5 6% 6A H
STRRBEIRRARSEENORAE | amum) % s B(eR 6% 108 18
FEITRKEHERINE R OIS BT R B MNE (BHK) F 204 S|/ 6% 12 8 B




